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(�)*+,-.�/�
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:)0�C ���D��3E'�B���=��
:3	#���	4'�,�	3��0����3���
�
����	3��
��

�����������������������
������� =�+AB9�A
���-.�/�
����
��
*, @>9�>�,�	&=�+#�,�	& 60 �H1.�
8� =����)-B�	�4'

�)-DI��=�+,�-�	,	>6A
,���7,�9�
:)0�C ���D��3E'�B���=�� ���
�
 7,059 
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����
��0��2�&1
���D��3E'�B���=�� ,9��,�����='���	
��/N�( 2 ��
=�+ 31 0�
��
# ).-. 2551)

�������������  A
���-.�/�
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�����
@>9�>�,�	&=�+#�,�	& 60 �H1.�
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:)0�C ���D��3E'�B���=�� :3	���D
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1.  8#6#��5ID����)>3�4'���S5� ��#��%�*+,
��#D#�	�19�A�839�
2.  8#6����
,�#)�$8#6�#�
��#)���� D�*�,���
:�
=�+�)=	(D9�#D�*,�����3���,,����4����	
3.  ��#��%�19�A��4'$,������#7�/2(839�
4.  	�
	,#�4'�#�
�A�AD9
��#�6�##*,A
�������	
 ��
 ���������������
1
�31,��4&6#$��,	6��A
�������	
����
��  
��
�2����>�$����
��
�21
�3�4&6#$��,	6��

1,� =�:� 	�#��
6 (Yamane, 1973 ,9��%.�A
 �&IA�  -���%�$
���>�, 2547, D
9� 207) =�+�'3��
��#
�B*+,#�+
�9,	4' 95 �4'1
�3
��#
4�3�
4*+,
=�+	,#���839�9,	4' .05 :3	AB9�>$�
��
�2  3��
��

n = N
         1 + Ne2

n =  1
�31,��4&6#$��,	6��
N =  ���
�
��'B���=���D#3  A
=�+
��#�����
�
  7,059 


e =  
��#
4�3�
4*+,
1,�����&6#$��,	6��  = .05
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n = 7,059
      1 + (7,059 x .052)

=        378 


3��
��
A
�������	
����
�� @>9����	�.�AB9�4&6#$��,	6��=�+-.�/� = 378 


��	����
�!���������������
����4*,��4&6#$��,	6�� @>9����	839�AB9���0�����&6#$��,	6�����D4�	1��
$,
 (Multistage

Random Sampling) �
*+,�����4&6#$��,	6�����
�4&6#��'B���=�+#����
�
#��:3	#�1��
$,
3��
�� 
1.  ��6���'B����$64'$���4,,����
�4&6# (Cluster Sampling) f.+�4��/2'1,��$64'

$���4#�4��/2'
49�	
4.����
 ���
B&#B
A
�1$B
�= ���=���D#3 17 $���4 �&6#����6�	39�	��0����
����E4���)*+,���
$���=
�'3��$���4 #� 4 $���4���=���D#3 17 $���4 839$���4�=)��B f.+�#��
���
�
��'B���@>9�>�,�	& 835 

 $���43,
=��	 ���
�
 410 

 $���4����,;3-,� ���
�
 
573 

 �4'$���4D
,�$�

� ���
�
 513 



2.  �&6#�4*,�D#>6�9�
 ����$64'$���4 :3	�4*,� 1 D#>6�9�
A
 1 $���4 
��#��&6#�4*,�
$���=
D#>6�9�
A
�$64'$���4:3	����&6#����6�	39�	��0�������E4�� (Cluster Random Sampling) 
#� 4 D#>6�9�
 839 D#>6 5 $���4�=)��B D#>6 2 $���43,
=��	 D#>6 3 $���4����,;3-,� D#>6 1 $���4
D
,�$�

�

3.  �4*,�$���=
�4&6#$��,	6��A
�$64'D#>6�9�
 4 D#>6�9�
 :3	����&6#����6�	39�	��0��
������E4�� (Simple Random Sampling) �����	B*+,@>9�>�,�	&A
�$64'D#>6�9�
 A
='���	

��$�,
�#�	
�,�
��� (��.1 $03) AD9
��$�#���
�
�4&6#$��,	6��=�+$9,���� :3	���
��
�2
$�#��3�6�
��'B���@>9�>�,�	&A
�$64'D#>6�9�
 3��
��

$����=�+ 2 ���
�
�4&6#$��,	6�� ����
�$�#D#>6�9�
�4'$���4

"����#�� ����� ������$�#%������� ('�) ����������������������'����)
*
#�

D#>6  5  $���4�=)��B
D#>6  2  $���43,
=��	
D#>6  3  $���4����,;3-,�
D#>6  1  $���4D
,�$��

�

130
102
115
102

109
86
97
86

��� 449 378
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7�)=�+ 4 1��
$,
����&6#$��,	6��


'�!����!����/�#/���������
�
�*+,�#*,=�+AB9A
�������	 ���
�����#7�/2(���#�:
����9�� =�+@>9����	��9��1.�
�,����


����6�
 ������=�=�
���2���# ��
����	=�+���+	�19,��4'�����#7�/2(=�+@>9 ����	)�g
�������&�
���@>9,*+
 ��6����
 4 �6�
 839��6�

�6�
=�+ 1  19,#>4�6�
�&

4 ��'�,�39�	 19,#>4���+	���� �)- ,�	& �%�
7�)�#��  
�'3�����-.�/� ��	839 ����
	D�*,8#6�
	,,����4����	,	6���#+����#, �����#7�/2(�6�

��
#��4��/2'���
����$�#19,
��#4�A
B6,��6���4'����
19,AD9�4*,�$,�$�#
��#���
���� ���
���
��#7�/2(=�+��9��1.�
�,����
�
 6 19,

�6�
=�+ 2  �����'�#�
7��'�&17�)=����	 ���
�����'�#�
���
�
:�
��*�,���
�����'�#�
���
�
,������;��<�	 �4'���$����6����	,����D�*,,������3� :3	���
��#7�/2( ��������$ �4'���$����6����	=�+@>9����	3�3��4�#���� )��);I  7�=���� (2550) 
839��3��9��
��8�AB9A
�4&6#@>9�>�,�	&:�
��*�,��� ,���7,�9�
�.� ���D��3B4�&��� 
&27�)�
�*+,�#*,#��

��#�B*+,#�+
�>� �=6���� .84 @>9����	839������&���981 :3	�)�+#�
*�,D��'����'��=�4'��'��=
��#@��

,���7,�9�
:)0�C  ���D��3E'�B���=��
7,059 

 17 $���4

$���4�=)��B
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$���4����,;3-,�
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�
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�6�
=�+ 3  ����
���
&
=�����
#1,�@>9�>�,�	& ���
�����#7�/2(����
���
&
=��
���
#1,��BS�S,�( 
,	
( �4'4�f���� =�+@>9����	
��#���� ,7�II�  0��#��� (2544) 3�3��4�A

�6�
1,�7�/��4'�%�
���2(AD9�D#�'�#���@>9�>�,�	& :3	��'�#�
����
���
���
&
���
B6�	�D4*�,@>9�>�,�	& ����
���
&
=�����
#=��� 3 39�
 ���
19,
��%�#=�����=���D#3 ��'�,�39�	
���839��������
���
&
=�����
#39�
,��#2( ����
���
&
=�����
#39�
19,#>416�����
����
���
&
=�����
#39�
��$%& ��+�1,� 4��/2'1,�����,�%�#���
#�$���6�
��'#�2
6� 
(Rating Scale) 4 �'3�� 
*, #�� ��
�4�� 
9,	 �4'8#6#� ���D
3AD9�$64'
6�#�
��#D#�	$�#
�������>9$6,���839���
��#B6�	�D4*,

��2h(���AD9
'�

3��
��
#�� AD9  3 
'�

  D#�	%.�  ����>9�6�839�������
���
&
=�����
##��
��
�4�� AD9  2 
'�

  D#�	%.�  ����>9�6�839�������
���
&
=�����
#��
�4��

9,	 AD9  1 
'�

  D#�	%.�  ����>9�6�839�������
���
&
=�����
#
9,	
8#6#�� AD9 0 
'�

  D#�	%.�  ����>9�6��8#6839�������
���
&
=�����
#
��2h(�����'�#�
@4�'3��
'�

�E4�+	����
���
&
=�����
# :3	,����2h( 

(Criterion Reference) A
�����6��'3����+�=�+$9�,������3 f.+�@>9����	��6��'3��1,�����
���
&
=��
���
#���
 4 �'3��3��
��


'�

E4�+	 2.51 j 3.00 D#�	%.�  839�������
���
&
=�����
##��

'�

E4�+	 1.51 j 2.50 D#�	%.�  839�������
���
&
=�����
#��
�4��

'�

E4�+	 0.51 j 1.50 D#�	%.�  839�������
���
&
=�����
#
9,	

'�

E4�+	 0.00 j 0.50 D#�	%.�  8#6839��������
���
&
=�����
#
�6�
=�+ 4  �����#7�/2( )?$�����#���,,����4����	1,�@>9�>�,�	&� ���
�����#7�/2(=�+

@>9����	3�3��4�#���� �&��#4  ��
$���� (2545) ���
����,�%�#���+	��������k���$����,,����4����	  
4��/2'
��%�#���
#�$���6�
��'#�2
6� 3 �'3��  
*,

�k���$����
��'���    AD9  2 
'�

  D#�	%.�  �k���$��#+����#, 3 
����1.�
8�A
 1 ���3�D(�
�k���$����
���
����  AD9� 1 
'�

 D#�	%.�  �k���$�8#6�#+����#, D�*,
9,	��6� 3 
����A
 

1 ���3�D(�
8#6�k���$��4	 AD9 0 
'�

  D#�	%.� 8#6�k���$�������#D�*,8#6,,����4����	
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��2h(�����4@4:3	,����2h( (Criterion Reference) 

'�

�E4�+	 1.51 - 2.00   D#�	%.�    #�)?$����#���,,����4����	���
��'���

'�

�E4�+	 0.51 - 1.50 D#�	%.�    #�)?$����#���,,����4����	���
���
����

'�

�E4�+	 0.00 j 0.50 D#�	%.�    8#6��k���$��)?$����#���,,����4����	D�*,#�
9,	

�������%��'�)0�1
'�!����!������
@>9����	=3�,�
&27�)�
�*+,�#*, :3	���D�
��#$��$�#�
*�,D� (Content Validity) 

�4'
��#�=�+	�1,������3 (Reliability) 3��
��
1.  �������%��'���������
�!4�"� (Content Validity Index)
@>9����	839
���
�*+,�#*,=�+AB9A
�������	 839��6� ����,�%�#19,#>4�6�
�&

4 �����'�#�


7��'�&17�)=����	 ����,�%�#����
���
&
=������
#1,�@>9�>�,�	& ����,�%�#)?$����#
���,,����4����	1,�@>9�>�,�	& 
��8�AD9,����	(=�+��.�/�@>9
��
&#��=	�
�)
0( $����,�
��#
%>�$9,� 
��#$���B���
*�,D� (Content Validity Index) ���AB97�/��4'
��#B�3��
1,�7�/� 
��#�
��981$�#
���
'
���4'
���
�*+,�#*,=�+AB9��;������#19,#>�4��
,AD9@>9=��
&2�&g� ���
�
 5 =6�
  
��'�,�39�	 �)=	(@>9#�
��#�B�+	�B�I39�
��B-��$�(B&#B
 ,����	()	���4 ��1����)	���4
@>9�>�,�	&� ,����	()	���4=�+�B�+	�B�I39�
��0��2�&1B&#B
 �4')	���4��B�k���$�B&#B
 2 =6�
 
$����,�
��#%>�$9,� 
��#
�,�
4&#1,��
*�,D��4':
����9��� D4�����@>9=��
&2�&g�=&�=6�
839�
)����2��49�
��#�D�
6�3�B
�
��#$���B���
*�,D� (Content Validity Index) D��19,
��%�#A3=�+
@>9�B�+	�B�I��
,�
'AD9�)����2�=�=�
�4'������&� @>9����	�'
��19,
��%�#
��
#�������&���981
AD9�D#�'�# =���39�
7�/� �4'
��#%>�$9,�A
�
*�,D�$�#
���
'
��1,�@>9�B�+	�B�I �4'AD9,����	(�
=�+��.�/���=	�
�)
0($����,�,��
����

�'3�������3�
��#
�3�D;
���
 4 �'3�� :3	�$64'�'3��#�
��#D#�	3��
��
1  D#�	%.�  
��%�#8#6�,3
49,����
�	�#�4	
2  D#�	%.�  
��%�#������
$9,�839������)����2�=�=�
�4'������&�,	6��#��

�.��'#�
��#�,3
49,����
��
�	�#
3  D#�	%.�  
��%�#������
$9,�839������)����2�=�=�
�4'������&��4;�
9,	

�.��'#�
��#�,3
49,����
��
�	�#
4 D#�	%.�  
��%�#�,3
49,����
�	�#�4	

CVI= ���
�

��%�#=�+@>9�B�+	�B�I=&�

AD9
��#
�3�D;
A
�'3�� 3 �4' 4
���
�

��%�#=���D#3
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@>9����	
������,�%�#����
���
&
=�����
#1,�@>9�>�,�	& �����'�#�
7��'�&17�)
=����	 ����,�%�#)?$����#���,,����4����	1,�@>9�>�,�	& D4�����@>9=��
&2�&g�=&�=6�
839�
)����2��49� #�D�
6�3�B
�
��#$���B���
*�,D� (Content Validity Index) 839
6��=6���� .97, 1 �4' 
.97 $�#4��3��

2. ����%��'���
�!������ ��
'�!����!� (Reliability) '���%�
'�#��������E����%�'F�
@>9����	
������,�%�#19,#>4�6�
�&

4 �����'�#�
7��'�&17�)=����	 �����#7�/2(

����
���
&
=�����
#1,�@>9�>�,�	& �����#7�/2()?$����#���,,����4����	 =�+@6�
���$����,�
���@>9=��
&2�&g��4'������&����	��9,	�49�8�=34,�AB9� (Try Out) ���@>9�>�,�	&A
B&#B
 =�+#�4��/2'

49�	
4.�����4&6#$��,	6��=�+=�����-.�/�#��=�+�&3 ���
�
 30 

 
*,B&#B
$���4�����>3 
,���7,�9�
:)0�C ���D��3E'�B���=�� �)*+,=3�,�
��#�19�A�A
7�/�=�+AB9 
��#�19�A�A
���$,�
��%�#  
$����,�
��#B�3��
1,�19,
��%�#�4'
��#�'3��A
���
���
�*+,�#*,8�AB9:3	)�����2����
��$,�
1,��4&6#$��,	6�� 
��@4=�+8398����
��'D(D�
��#�=�+	�1,��
�*+,�#*, 39�	���D�
6�
��#�B*+,#�+
1,����
��'�#�
7��'�&17�)=����	 :3	�����'#�2
��#�=6��=�	#��
1,�@>9=�����$����6����	 (Interrater 
Reliability) :3	$����6����	8�)�9,# r ��
 �49�
��#�
��
�2D�
6�
��#�B*+,#�+
:3	AB9
6���#��'��=0�C
�D��#)�
0(1,��)�	�(��
 (Pearson, s correlation Coefficients) �4'�����#7�/2(����
���
&
=��
���
# �����#7�/2()?$����#���,,����4����	 �6�
=�+���
#�$���6�
��'#�2
6� (Rating Scale)
:3	AB9��#��'��=0�C,�4S�1,�
�,
��
 (Cronbachts Alpha Coefficient) ������
6�
��#�B*+,#�+
A


����
��8#6839$�319,
��%�#A3 r ,,� �)�	��$6839����19,
��%�#AD97�/��19�A��6�	1.�
 AD9���3
��#�19�A�
A
���$,������#7�/2(�4'AB9:�����#�����;��>����
��'D(
��#�B*+,#�+
 839@4���=3�,�3��
��

�����#7�/2(����
���
&
=�����
#39�
,��#2( ���
�
 7 19, 39�
19,#>416����� 
���
�
 6 19, �4' 39�
��$%&��+�1,� ���
�
 6 19, #�
6�
��#�B*+,#�+
A
�'3���>� ( = .941, .889, .801 
$�#4��3��) �����#7�/2()?$����#���,,����4����	 ���
�
 14 19, #�
6�
��#�B*+,#�+
A
�'3���>� 
( = .791) �����'�#�
7��'�&17�)=����	 D�
��#�B*+,#�+
:3	�����'#�2
��#�=6��=�	#��

1,�@>9=�����$����6����	 (Interrater Reliability) 
6�
��#�B*+,#�+
:3	AB9
6���#��'��=0�C�D��#)�
0(�
1,��)�	�(��
 (Pearson, s correlation Coefficients) 839
6���#��'��=0�C
��#�B*+,#�+
A
�'3���>� 
( = .98)

���
�G������� #����
�������	
����
��@>9����	3���
�
�����;������#19,#>4 :3	3���
�
���$�#1��
$,
 3��
��
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1.  @>9����	1,D
���*,�
'
��$�����
2')	���4-��$�(� #D���=	�4�	�>�)� %.��
��0��2�&1,���7,�9�
:)0�C @>9,��
�	���:��)	���4�9�
:)0�C �)*+,B����9����$%&��'��
(�������	�4'
1,,
&I�$3���
�
�������	�4'��;������#19,#>4

2.  7�	D4��839���,
&I�$�49� @>9����	�19�)���0��2�&1,���7,�9�
:)0�C @>9,��
�	���
:��)	���4�9�
:)0�C �)*+,B�������$%&��'��
(1,��������	 1��
$,
�������	 �4'1,
��#�6�##*,A

���3���
�
������#�4'�����;������#19,#>4

3.  @>9����	839�19�)�D��D
9�->
	(�&17�)B&#B
$���43,
=��	 $���4�=)��B $���4
D
,�$�

� $���4����,;3-,� ,���7,�9�
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